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WEST BENGAL STATE UNIVERSITY
B.A. Honours Ist Semester Examination, 2022-23

PHIACORO02T-PHILOSOPHY (CC2)

WESTERN LOGIC-1

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicale Jull marks. Nfe T FE R GG ‘ZW Ficr! 1
Candidates should answer in their own words g3l e SIa I/ 789 AT T
Beq PRI

and adhere 1o the word limit as practicable.
All symbols are of usual significance.

GROUP-A / [{eid-&
1. Answer any five questions from the following: 2x5=10
raERe @-IE 26l 2t T wles
(a) Distinguish between a truth functional compound state
functional compound statement.
i (I A1) @ SETOTICSE (I ACPT T A7 |

ment and a non-truth

(b) What is existential fallacy?
FHifgwe! (g FICF ¢ ?
(c) Define ‘=’ by truth table.
SeFIRAE AR ¢ =-99 FREE 13|
(d) What is Conditional Proof? Explain with example.
el el 7o B 4G 9 Srrgae R Il Sl
(e) If pvg=F,then determine the truth value of the statement:
~(p=9)
W pvg=F T, O ~(qu)—tﬂ§Wﬁﬂ/ﬁ°TWl
(f) Translate the following sentence into Boolean notation and then express it in

terms of Venn diagram:
There are idle men.

fmRiRe w78 FPITS e S0 (S T4 M Sl
BT eI SR
(g) Define tautologous proposition.

TG 3G) 6 TG WG |
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(h) Symbolise the following:
OIS T2
()  pisthe sufficient condition of ¢
p T g-93 e s
(i) pifandonly ifq.
)4 I GR @FIH I q!
(i) Distinguish between complementary term and contrary term.
“Afe(5 =17 '@ ot =it Wz iy el
() What is meant by argument form? Give an example.

{@WW%@W?&%W@W@!

GROUP-B / Jeist-1

2. Answer any fwo questions from the following:
RS @-coieTt 78 oo g mies
(a) What are the differences between exclusive disjunction and inclusive disjunction? 5
FReRaIRl @3k e sear-g T w2t |
(b) Distinguish between Rules of Inference and Rules of Replacement.
OFLICE 739 @ 2 SRIe1ta s g =iy <ozt

(c) Determine  whether the following  statement forms are tautology,
self-contradictory or contingent by means of truth-table:

TOPRAR AR Neoa AR 057, Fos ey A wieifew o ey v
D p=lpv(p>4q)]
() [(p-q)v(~p ~r)]=(g=r).

(d) Use the method of Indirect Pr
tautology:

WW#WWWQW@W%W%SW:
(A>B)v(~d4>0)

Sx2=10

1
21

oof to verify that the following statement is a 5

GROUP-C / f&stat-at

Answer any fwo questions from the following 15%2=30
Pt ol 18 o e e
3. (a) Test the validity of the following arguments by Venn diagram: 545
oo i Pl e el Rt e

(1 All men are liable to error; saints being men arce liable to error.,

R AR @i et m;m{mwmmmemﬁawwn
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(b)

4. (a)

(b)

©

1074

-23

i) No fi .
(i) 18S are coconuts. No dates arc coconuts. Therefore, no dates are figs.
_ t@ls'“ E??.WWI CPI (IS T 719 | AR (FI (G T 1|
1€ validity of the following argument by truth table method:

TTOPTRAI SRIG FrfoiRe 9o tiro! Ro gt

If terrorists’ dem
demands are ng
lawlessness will

ands are met, then lawlessness will be rewarded. If terrorists’
t met, then innocent hostages will be murdered. So either
be rewarded or innocent hostages will be murdered.

Uﬁ@ﬁ@mﬂﬁm@,wmﬂa@qmnﬁ@ﬁmﬁmW@,

;gﬁﬁﬁmﬁ%WWmmﬁmamwmmaﬁ@mmwmﬁﬁwmﬁm%

Determine whether the following statements are tautologous or not by using
truth-tree method:

TR 2l @il e Novw ey FosTe) el (rahes
O P=>9—->Q—>R—(P->R)]
(i) 4—>[(4— B)— B].
Use truth-tree method to test the following argument:
TR #iEfS elrst wea FREfRe 3Reba et [or ww@i:
A< B
SA—>B
OR /=44t
A—->B,B—>C,C—>D
sA—D

Use truth tree method to determinc whether the following propositions are
consistent:

FeNR ~ats g s Hesa Al Sy et [ s
A—>C
B—->C
~A
—A—-C

Construct formal proof of validity of any zhree from the following arguments
(Do not use C.P. or I.P.):

TR @-@iE foqt e Siwmete (el el sl (C.P. 1 LP. I[/x9 F4
QR =):
(i) Rv(S-~T),(RvS)>Uv~T)
~T>oU
(i) (HoP)- (SoW)/.(HvS)D(PVvW)

(iii) If the Indian Team wins this game, then it will win the series. Therefore, if
the Indian Team wins this game, then if it continues to hit then it will win
the serics.

4+4

5x3 =15
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e SiRe we «3 (@I (@S, @ ol Fifkelt e A1 oK, I SRSy Wl
aimﬁmmﬂﬁwm@wwﬁwmmmﬁﬁﬁ%ﬁmmm

(iv) Socrates was a great philosopher. Therefore, either Socrates was happily

married or else he was not.

S qeen Rare A i) weas, STt Raifke G 33 frres
EVARGEE

6. (a) Use the method of Conditional Proof to prove the validity of the following

argument:

AR @slel ~fefod AR FakRe e (uor el 2ls
A>(B>oC)

B>(C>D)/.AD(Bo D)
(b) Use the method of Indirect Proof to prove the validity of the following argument:

SHTATEF @1e] Sfeq AR FRERG 7 ([eo! 2N S
A>(B-C)
(BvD)DE

Dv A
. B

(c) Prove the invalidity of the following arguments by the method of assigning truth

values:

STETET) Sl “fon AR e e ool 2R s
(i) S>(T>U)
VoW >0)
ToW-W)
~(T-X)/.8=U
(iiy CoD
~Co ~4
~Do~B/o.~B>~4

X

4+4



